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1. What is the range of short data type in Java ?
(1) -128to 127 |
(2) -32768 to 32767
(3) -2147483648 to 2147483647
(4) None of the mentioned

2. Which of these occupy first 0 to 127 in Unicode character set used for characters

in Java ?
. (1) ASCII

(2) ISO-LATIN-1
(3) None of the mentioned
(4) ASCII and ISO-LATIN-1

3. Which of the below data type doesn't support overloaded 1ﬁethods for +,—*and/?
(1) int @) float |
(3) doublé (4)BigDecimal

4. Literal can be of which Qf these data types ? |
(1) integer | S @ foat

(3) boolean | . (4) all of the mentioned
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5. Which of these is necessary condition for automatic type conversion in Java ?
(1) The destination type is smaller than source type
(2) The destination type is larger than source typ.e
(3) The desti_hation type can be larger or smaller than source type
(4) None of the mentioned
6. What is Truncation is Java ?
(1) Floating-point value assigned to an integer type
(2) Integer value assigned to ﬂbatiqg type
-(3‘) F'loﬁting-—poinf value asSigned to an Floating type
(4) Integer value assigned to ._ﬂoallt’ing ‘type
7. Which of these is an incorrect array declaration ?
(1) int arr[] = new int[5] (2) int [] arr = new int[5]
(3) int arr[] arr = new int[5] (4) int arr[] = int [5] new
8. Which of these is necesséry' to specify at time of array initialization ?
(1) Row (2) Column

(3) Both Row and Column (4) None of the mentioned
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9. Modulus operato;', %, can be applied to which of these ?
(1) Integers
(2)- Floating — point numbers
(3) Both Integers and floating — point numbers
4) None of the mentioned
10. Which of these statements are incorrect ?

(1) Assignment operators are more efficiently- implemented by Java.run-time system

than their equivalent long forms
(2) Assignment operators.run faster than their equivalent long forms
(3) Assignment operators can be used only with numeric and character data type
(4) None of the mentioned
11. An array elements are always stored in ........... ... mémory locations.
(1) Sequential
(2) Random
(3) Sequential and Random

(4) Binary Search
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12. Which operator is used to invert all the digits in a binary representation of a number ?
(1) ~ (2) <<<
(3) >>> @) ~

13. Which of these is returned by "greater than", "less than" and "equal to" operators ?
(1) Integers
(2) Floating — point numbers
(3) Boolean
(4) ‘None of the mentioned

14. Which of these are selection statements in Java ?

(1) if() (2) for()
(3) continue (4) break

15. . Which of these. jump s_tatem‘e‘rits can skip processing the remainder of the code in
its body. for a particular iteration ?

(1) break . (2) return

3) exit (4) continue

16.  Which component is responsible for converting bytecode into machine specific code ?
(1) JVM (2) JDK

(3) NT (4) JRE
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17. Which of the below is invalid identifier with the main method ?
(1) public Q) static
(3) private (4) final
18. What is the extension of java code files ?
(1) .class (2) .java
(3) txt @) js
19.. What is use of interpreter ?
(1) They convert bytecode to machine language code
(25 They read high level code and execute them
(3) They are intermediated between JIT and JVM
 (4) Itisasynonym for JIT
20. What is the stored in the object obj in following lines of ja\.'a‘ code ?
box obyj;
(1) Memory address of allocated memory.of object
(2) NULL
3) Any arbitrary pointer
(4) Garbage
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21.  Which of the following is a valid declaration of an object of class Box ?
(1) Box ebj = new Boxt();
(2) Box obj = new Box;
(3) obj =new Boxt();
(4) new Box obj;
22. Which of these statement is incofrebt ?
(1) Every class must contain a main() method
(2) Applets do not require a main() method at all
(3) There can be only one main() method in a prograrri
(4) main() method must be made public
23. What is the return type of a method that does not return-any value ?
(1) int (2) float
}}/X void (4) double
24. Which of the following is a method having same name as that of it's class ?
(1) finalize ‘ (2) delete

(3) class (4) constructor
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25. Which method can be defined only once in a program ?
(1) main method (2) finalize method
(3) static method (4) private method

26. Which of this statement is correct ?

(1) All object of a class are allotted memory for the all the variables defined in the
class

(2) If a function is defined private it can be accessed by object of other class by
inheritation

(3) main() method can be made private
(4) All object of a class are allotted memory for the methods defined in the class

27. Can abstract class have main() function defined inside it ?
('1') Yes, depending on return type of main()
(2) Yes, always
(3) No, main must not be defined inside abstract class

(4) No, because main() is not abstract function

28. Which function is used to perform some action when the object is to be destroyed ?

(1) finalize() (2) delete() .

(3) main() (4) none of the mentioned
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29. What is true about constructor ? ’
(1) It can contain return type
(2) It can take any number of parameters
(3) It can have any non access modifiers
(4) Constructor cannot throw an exception
30. Which of the following has the highest memory requirefrieni i
‘(1) Heap (2) Stack
ByIivm (4) Class
31.  Which exception is thrown when java is out of memory ?
(1) MemoryFullException
(2) MemoryOutOfBoundsException °
(3) OutOfMemoryError
(4) MemoryError

*32. What is the process of defining two, or more methods within same class that have
same name but different parameters declaration ?

(1). method overloading (2) method overriding

(3) method hiding (4) none of the mentioned
97692/(A)



33.

34.

35.

36.

37.

What is the process of defining a method in terms of itself, that is a method that c,ﬁlls
itself ? '

(1) Polymorphism (2) Abstraction
(3) Encapsulation (4) Recursion

Which of these is used as a default for a member of a class if no access specifier is

used for it ?

(1) ‘private . : (2) public

(3) public, within its own package (4) protected

Which of this mefhod is given parameter via command line arguments ?
(1) main() . (2) recursive() method

(3) Any method (4) System defined methods
Which'- of these data types is used to store command line arguments ?
(1) Array a0 (2) Stack

(3) String (4) Integer

- Which of these packages contains the exception Stack Overflow in Java 7

(1) java.lang _ (2) java.util

(3) java.io (4) java.systenis

97692/(A) P.T:O.



10

38.

39.

40.

41.

42,

A

Which of this keyword can be used in a subclass -to call the constructor of
superclass ? ‘

(1) super (2) this

(3) extent (4) extends

Which of these can be overloaded ?

(1) Methods (2) Constructors

(3) 'All of the mentioned (4) None of the mentioned

‘What is the pracess by which we can control what parts of a program can access the

members of a class ?

(1) Polymorphism ' (2) Abstraction

(3): Encapsulation (4) Recursion

Which of these keywords can be used to prevent Method overriding ?
(1) static (2) constant

(3) protected (4) final

Which of these is correct way of calling a coﬁstructor having no parameters, of

superclass A by subclass B 7
(1) super(void); (2) superclass.();

(3) super.A(); (4) super();

976921(A)



43.

44.

45,

46.

47.

11
Method ov;rriding in Java'is possible due to which concept ?
(1) Abstraction (2) Encapsulation
(3) Polymorphism " (4) None of the mentioned
A class member declared protected becomes a member of sﬁbclass of which type ?
(1) public member (2) private member
(3) protected member (4) static member
What is not type of inheritance ?
(1) Single inheritance (2) Double inheritance
(3) Hierarchical inheritance (4) Multilevel inheritance

In order to restrict a variable of a class from’ mhentmg to subclass, how variable
should be declared ? '

(1) Protected (2) Private
(3) Public _ (4) Static

Which of the following keyword is used for 1mplementmg inheritanc¢ through an
interface ? '

(1) inherited (2) using

(3) extends (4) implements

97692/(A) P.T:O.
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48. Which of this method of class String is used to-obtain a length of String object ?
(1) getQ (2) Sizeof()
(3). lengthof() (4) length()
49. Which of these classes is not included in java.lang ?
(1). Byte (2) Integer
(3) Array (4) Class

50. "Which of these is a super class of W:appefs Double & Integer ?

(1) Long (2) Digits

(3) Float (4) Number

97692/(A)
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1. An array elements are always stored in .............. memory locations.
(1) Sequential
(2) Random
(3) Sequential' and Random
(4) Binary search
2. Which operator is used to invert all the digits in a binary repr_e‘sen"cation of a number ?
(1) ~ e (2) ===
(3) >>> GRS
3. Which of thesé is réturned by "greater than", "less than” and "equal to" operators ?
(1) Integers
(2) Floating — point numbers
(3) Boolean
(4) None of the mentioned
4. Which of these are selection statements in Java ?
(1) ifQ (2) for()

(3) continue _ (4) break

97692/(B) | P.T:O.
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5. Which of these jump statements can skip processing the remainder of the code in
its body for a particular iteration ?

(1) break ' (2) return

(3) exit '(4) continue

6. Which component is responsible for converting bytecode into machine specific code ?
(1) JIVM (2) JDK

- (3 ur (4) JRE
7. Which of the below is i-nvalid identifier with the main method ?
(1) public (2) static
(3) private (4) final
8. "What is the extension of java code files ?
(1) .class : (2) .java
3) txt . _ 4) js
9. What is use of interpreter ?
(1) They convert bytecode to machine languag¢ code
(2) They read high level code and execute them
(3) They are intermediated between JIT and JVM
| (4) Itis a synonym for JIT
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10. " What is the stored in the object obj in following lines of java code ?
box obj;
(1) Memory address of allocated memory of object
(2) NULL
(3) Any arbitrary pointer

(4). Garbage
11.  Which of the following is a valid declaration of an object of class Box ?
(1) Box obj = new Boxt();
(2) Box obj = new Box;
(3) -obj = new Boxt();
(4) new Box obj;
12.  Which of these statement is incorrect ?
(1) Every class must contain a main() method
(2) Applets do not require a main() method at all
(3) There can be only one main() method in a program

(4) main() method must be made public

97692/(B) | | P.T.O.



13.  What is the return type of a method that does not return any value ?
(1) int (2) float
(3) void (4) double
14. Which of the following is a rﬂethod having same name as that of it's class ?
(1) finalize (2) delete
(3) class | (4) constructor
15. Which method can be defined only once in a program ?
@)) méin method
(2) finalize method
(3) static method
(4) private method

16. Which of this statement is correct ?

(1) All object of a class are allotted memory for the all the variables defined in the
class

(2) If a function is defined private. it can be accessed by object of other class by
inheritation

(3) main() method can be made private

(4) All object of a class are allotted memory for the methods defined in the class

97692/(B)



17. Can abstract class have main() function defined inside it ?
(1) Yes, depending on return type of main()
(2) Yes, alv‘v‘ays
(3) No, main rﬁusjc not be defined inside abIStrapt élass
(4) No, because main() is not abstract function
18. Which function is used to perform some action when the object is to be destroyed ?
(1) finalize() (2) delete()
(3) main() (4) none of the mentioned
19. What is true about constructor ?
(1) It can contain return type
(2) It can take any number of parameters
(3) It can have any non access modifiers
(4) Constructor cah_not throw an exception

20. Which of the following has the highest memory requirement ?

(1) Heap (2) Stack
(3) IVM ' (4) Class

97692/(B) P.T.O.



21. Which exception is thrown when ja{/'a 1s out of m'em(;ry ?
(1) MemoryFullException
(2) MemoryOutO-fBoun'dsExccptidn
3) OutOtl\/[emoryError
(4) MemoryError
22. What is the process of defining two or rhf;re methods within same class that have
same name but different parameters declaration ?
(1) method overloading (2) method overriding

(3) method hiding ' (4) none of the mentioned

23. What is the process of defining a method in terms of itself, that is a method that calls

itself ?
(1) Polymorphism (2) Abstraction
(3) Encapsulation (4) Recursion

24.  Which of these is used as a default for a member of a class if no access specifier is
used for it ?

(1) private (2) - public

(3) public, within its own package " (4) protected

97692/(B)



25. Which of this method is given p'ararheter via command line arguments ?
(1) main() (2) recursive() method

(3) Any method ' (4) System defined methods .
26. Which of these data types is used to store command line arguments ?
(1) Array (2) Stack
(3) String (4) Integer
27. Which of these packages contains the exception Stack Overflow in Java ?
(1) java.lang (2) java.util
(3) java.io (4) java.systems

28. Which of this keyword can be used in a subclass to call the constructor of
superelass ? . '
(1) super ' (2) this
(3) extent (4) extends

29. Which of these can be overloaded ?

(1) Methods (2) Constructors

(3) All of the mentioned (4) None of the mentioned

30. What is the process by which we can control what parts of a program can access the
members of a ¢lass ?

(1) Polymorphism (2) Abstraction

(3) Encapsulation (4) Recursion

)7692/(B) P.T.O.



31. Which of these keywords can be used to prevent Method overriding ?
(1) static (2) constant
(3) protected (4) final

32. Which of these is correct way of calling a constructor having no parameters, of
superclass A by subclass B ?

(1) super(void); (2) superclass.();
(3) super.A(); (4) super();
33. Method overriding in Java is possible due to which concept ?
(1) Abstraction (2) Encapsulation
(3) Polymorphism (4) None of the mentioned

34. A class member declared protected becomes a member of subclass of which type ?
(1) -public member (2) private member

3) prdtected member (4) static member
35. What is not typ_e of inheritance ?

(1) Single inheritance

(2) . Double inheritance

(3) .Hierarchical inheritance

(4) Multilevel inheritance

97692/(B)



36.

37.

38.

39.

40.

In order to restrict a variable of a class from inheriting to subclass, how variable
should be declared ?

(1) Protected (2) Private
(3) Public (4) Static

Which of the following keyword is used for implementing inheritance through an
interface ?

(1) inherited (2) using

(3) extends 4) implements

Which of this method of class String is used to obtain a lengt_h of String object ?
(1) get) (2) Sizeof()

(3) lengthof() ~ (4) length()

Which Of these classes is nof included in java.lang ?

(1) Byte (2) Integer

(3) Array (4) Class

Which of these is a super class of wrappers Double & Integer ?

(1) Long (2) Digits

(3) Float (4) Number

97692/(B) P.T.O.
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41. What is the range of short data typé in Java ?
(1) -128 to 127
(2) -32768 to 32767
(3) -2147483648 to 2147483647

(4) None of the mentioned

42. Which of these occupy first 0 to 127 in Unicode character set used for characters

in Java ?
(1) ASCII
(2) ISO-LATIN-1
(3) None of the mentioned
(4) ASCII and ISO-LATIN - 1
43. Which of the below data type doesn't support overloaded methods for +, —,* and / ?
(1) int (2) float
(3) double (4) BigDecimal

44. [iteral can be of which of these data types ?
(1) integer (2) float

(3) booleari (4) all of the mentioned
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45. Which of these is necessary condftion for automatic type conversion in Java ?
(1) The destination type is smaller than source type -
(2) 'The destination type is larger than source typé
(3) The destination type can be 'larg;-r or smaller than source type
(4) None of the mentioned-
46. What is Truncation is Java ?
(1) Floating-point value assigned to aq int'eger. typé
(2) Integer value assigned to floating type
(3) Floating-point value assigned to an Floating type
(4) Integer value assigned to floating type
47. Which of these is an incorrect array declarationl?
(1) int arr[] = new int[5] | (2) int[] arr = new int[5]
(3) int arr[] arr = new int[5] (4) int arr[] = int [5] new
48. Which of these is necessary to specify at time of array initialization ?
(1) Row (2) Column

(3) Both Row and Coelumn . (4) None of the mentioned

97692/(B) ' P.T.O.
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49. Modulus operator, %, can be applie"d to which of these ?
(1) Integers
(2) Floating — point numbers
(3) Both Integers and floating — point numbers
(4) None of the mentioned

50. Which of these statements are incorrect ?.

(1) Assignment operators are more efﬁé'iently implemented by Java run-time system

than their equivalent long forms
(2) Assignment operators run faster than their equivalent long forms
(3.) Assignment operators can be usevd only with numeric and character data type

(4) None of the mentioned

97692/(B)
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1. Which of the following is a valid declaration of an object of class Box ?
(1) Box obj = new Boxt();
(2) Box obj = new Box;
(3) obj=new Boxt();
(4) new Box obj;
2. Which of these statement is incorrect ?
(1) Every class must contain a main() method
(2) Applets do not require a main() method at all
(3) There can be iny one main() method in a pfogram
(4) main() method must be made public
3. What is the return type of a method that does not return any value ?
(1) int ' (2) float
(3) void (4) double
4. Which of the following is a method having same name as that of it's class ?
(1) finalize (2) delete

(3) class | . (4) constructor
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5. Which method can be defined only once in a program ?
(1) main method (2) finalize method
(3) static method (4) private method
6. Which of this statement is correct ?

(1) All object of a class are allotted memory for the all the vériablgs defined in the
class- [

.(2) If a function i$ defined private it can be accessed by object of other class by
inheritation = |
|
(3) main() method can be made private

\

(4) All object of a‘.class are allotted memory for the methods defined in the class

7. Can abstract class have main() function defined inside it ?
(1)'Yes, depending on return type of main()
(2) Yes, always
(3) No, main rriusj: nét be dgﬁned inside abstract class
(4) No, because main() is né)'t- abstract function
8 Which fﬁn‘ction is used to perfqrr;; some action when the object is to be destroyed ?

(1) finalize() (2) delete()

(3) main() (4) none of the mentioned
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9. What is true about constructor ?
(1) It can contain return type
(2) It can take any number of parameters
(3) It can have any non access modifiers
(4) Constructor cannot throw an exception

10. Which of the following has the highest memory requirement ?
(1) Heap (2) Stack
(3) JIVM' (4) Class
11. Which exception is thrown when java is out of memory ?
(1) MemoryFullException
(2) MemoryOutOfBoundsException
(3) OutOfMemoryError
(45 MemoryError

12. What is_the process of defining two or more methods within same class that have
same name but different parameters declaration ?

(1) method overloading (2) method overriding
(3) method hiding (4) none of the mentioned
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13.

14,

15.

16.

17.

C

What is the process of defining a method in terms of itself, that is a method that calls
itself ? :

(1) Polymorphism (2) Abstraction
(3) Encapsulation (4) Recursion

Which of these is used as a default for a member of a class if no access specifier is
used for it ? !

(1) private (2) public

(3) public, within its own package (4) protected

Which of this method is given parameter via command line arguments ?
(1) main() ~ (2) recursive() method

(3) Any method | (4) System defined methods
Which of these data types is used to store command line arguments ?
(1) Array (2) Stack

(3) String (4) Integer

Which of these packages contains the exception Stack Overflow in Java ?
(1) java.lang (2) java.util

(3) java.io (4) java.systems

97692/(C)
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18. Which of this keyword can be used in a subclass to call the constructor of
shperclass o g iy L
(1) super ! ~ (2) this
(3) extent - e . (4) extends

19. Which of these can be overloaded ? -
(1) Methods
(2) Constructors

(3) All of the mentioned

(4) None of the mentioned

20. What is the process by which we can control what parts of a program can access the

members of a class ? ~ : .
(1) Polymorphism (2) Abstraction
(3) Encapsulation (4) -Recursion

21. Which of these keywords can be used to prevent Method overriding ?
(1) static (2) constant
(3) protected (4) final

22. Which of these is correct way of calling a constructor having no parameters, of
superclass A by subclass B ?

(1) super(void); (2) superclass.();

(3) super.A(); (4) super();
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23.

24,

25.

26.

27.

Method overtiding in Java is possible due to which concept ?

‘(1) Abstraction (2) Encapsulation

(3) Polymorphism (4) None of the mentioned

A class member declared protected becomes a member of subclass of which type ?
(1) public member (2) private member

(3) protected member (4) static member

What is not type of inheritance ?

(1) Single inhérifance . »Y . (2) Double inh-etitanée

(3) Hierarchical inheritance (4) Multilevel inheritance

In order to restrict a variable of a class from inheriting to subclass, how -variable

should be declared ?
" (1) Protected (2) Private
(3) Public (4) Static

Which of the following keyword is used for implementing inheritance through an
interface ?

(1) inherited (2) using

(3) extends f (4) implements- "
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28. Which of this method of class String is used to obtain a length of String object ?
(1) get() (2) Sizeof()

(3) lengthof() (4) length()

29. Which of these classes is not included in java.lang ?
(1) Byte . (2) Integer:
(3) Array (4) Class

30. Which of these is a super class of wrappers Double & Integer ?
(1) Long (2) Digits

(3) Float ~ (4) Number

31, What is the range of short data type in Java ?
(1) -12810 127
(2) -32768 to 32767
(3)- -2147483648 10 2147483647

(4) None of the mentioned
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32. Which of. these occupy first 0 to 127 in Unicode character set used for characters
in Java ?

(1) ASCHI
(2) ISO-LATIN-1
(3) None of the mentioned
(4) ASCII and ISO-LATIN-1
33. Which of the below data type doesn't support overloaded methods for +, —*and/?
(1) int (2) float
(3) double (4) BigDecimal

34, Literal can be of which of these data types ?
(1) integer (2) float

(3) boolean (4) all of the me,ntiohéd
35. Which of these is necessary condition for automatic type conversion in Java ?
(1) The destination type is smaller than source type
2) .ThC destinatjon type is larger than source type
(3) The destination type can be larger or smaller than source type

(4)-None of the mentioned
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36. What is Truncation is Java ?
(1) Floating-point value assigned to an integer type
(2) Integer value assigned to ﬂoatipg tyi)e
(3) Floating-point value assigned té an Floating type
(4) Integer value assigned to floating type
37. Which of these is an incorrect array declaration ?
(1) int arr[] = new int[5] ~(2) int [] arr = new int[5]
(3) int arr[] arr = new int[5] (4) int arr[] = int [5] néw
38. Whiqh of these is necessary to specify at time of array initialization ?
(1) Row (2) Column

(3) Both Row and Column (4) None of the mentioned
39. Modulus operator, %, can be applied to which of these ?

(1) Integers

(2) Floating — point numbers

(3) Both Integers and floating — point numbers

(4) None of the mentioned
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40.

41.

42.

43.

Which of these statements are incorrect ?

(1) Assignment operators ar¢ more efficiently implemented by Java run-time system

than their equivalent long forms
(2) Assignment operators run faster than their equivalent long forms
(3) Assignment operators can be used only with numeric and character data type

(4) None of the mentioned

An array elements are always stored in .............. memory locations.
(1) Sequential ' (2) Random
(3) Sequential and Random (4) Binary search

Which operator is used to invert all the digits in a binary representation (_)f a number ?
(W - (2) <<<

(3).7=2= @ "

Which of these is returned by "greater than", "less than" and "equal to" operators ?
(1) Integers

(2) Floating — point numbers

(3) Boolean |

(4) None of the mentioned
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44.

45.

46.

47.

48.

49.

Which of these are selection statements in Java ?
(1) ifQ) ) for()

(3) continue (4) break

11

Which of these jump statements can skip processing the remainder of the code in

its body for a particular iteration ?
(1) break , | (2) return

(3) exit (4) continue

Which component is responsible for converting bytecode into machine specific code ?

(1) JVM : (2) JIDK
(3) JIT (4) JRE

Which of the below is invalid identifier with the main method ?

(1) public | (2) static
(3) private (4) final
What is the extension of java code files ?

(1) .qla’ss , (2) .java

@) ixt | @ s

What is use of interpreter ?

(1) They convert 'bytecode to machine language code

(2) They read high level code and execute them
(3) They are intermediated between JIT and JVM

(4) It is a synonym for JIT

97692/(C)
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50. What is the stored in the object obj in following lines of java code ?
box obj;
(1. Memory address of allocated memory of object
(2) NULL
(3) Any arbitrary pointer

(4) Garbage
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402564
I'otal No. of Printed Pages : 13 . Sr. No. : 15 '
(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU ARE ASKED TO DO SO)

Paper I.D. No. : 97692

D BCA 6th Sem.

Object Technologies & Programming using Java
] Paper : BCA-307

Time : 45 Minutes Max. Score : 40 Total Questions : 50

» = [ o ’
Roll No. (in figures) 44 0 85 29 (in words) Nife Eub 2eAo e.g?l'ﬁ‘ gAY 7’4@_/]1,16
Name of Exam.Centre IR Knnw}cﬁf_ ‘:f)qpl Kk Centre Code 298

bate of Examination : |9 llo |2& '
(Signature of the Candidatc) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/IN STRUCTIONS BEFORE STARTIN
: THE QUESTION PAPER. : ;

I.  Attempt any 40 questions.
The candidates must return the Question booklet as well as OMR answer-sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-means/mis-
behaviour will be registered against him/her, in addition to lodging of an FIR with the police. Further ——

i)

the answer-sheet of such a candidate will not be evaluated. ==

3. Kceping in view the transparency of the examination system, carbonless OMR Sheet is pfovidcd to —=H=-

the candidate so that a copy of OMR Sheet may be kept by the candidate. .

4. Question Booklet along with answer key of all the A, B; C & D code will be got uploaded on the
University website after the conduct of lxamination: In case there is any discrepancy in the
Questior Booklet/Answer Key, the same may be brought to the notice of the Controller of
lixamination in writing/through E.Mail within 24 hours of uploading the same on the University
Websitc. Thereafter, no complaint in any case, will be considered. : L

5. 'The candidate MUST NOT do any rough work or writing in the QMR Answer-Sheet. Rough work, if
any, may be done in the question booklet itsclf. Answers MUST NOT be ticked in the Question
booklet. ‘

6. There will be no negative marking. Each corrcet answer will be awarded one full mark.
Cutting, crasing, overwriting and more than onc answer in OMR Answer-Sheet will be treated
as incorr¢ét answer. _ : ' :

Usc only Black or Blue BALL POINT PEN of good quality in the OMR Answer-Sheet.

BEFORE ANSWERING TIHE QUESTIONS, THE CANDIDATES SHOULD ENSURE THAT
THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE BOOKLET. COMPLAINTS, IF
ANY, REGARDING MISPRINTING ETC. WILL NOT BE ENTERTAINED 15 MINUTES
AFTER STARTING OF THE EXAMINATION. :

97692/(D)




1. Which exception is thrown when java is out of memory ?
(1) MemoryFullException
(2) MemoryOutOfBoundsException
(3) OutOfMemoryError
(4) MemoryError

2. What is the process of defining two or more methods within same class that have
same name but different parameters declaration ?

(1) method overloading (2) method overriding
(3) method hiding (4) none of the mentioned

3. What is the process of defining a method in terms of itself, that'is a method that calls

itself ?
(1) Polymorphism (2) Abstraction
(3) Encapsulation (4) Recursion

4. Which of thése is used as a default for a member of a class if no access specifier is

used forit ? =
(1) private (2) public
(3) public, within its own package (4) protected
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5. Which of this method is given parameter via command line arguments ?
(1) main() (2) recursive() method
(3) Any method (4) System defined methods

6. ‘Which of these data types is used to store command line arguments ?
(1) Array ' (2) Stack
(3) String (4) Integer
7. Which of these packages contains the exception Stack derﬂow in Java ‘7
(1) java.lang (2) java.util
(3) java.io (4) java.systems

8. Which of this keyword can be used in a subclass to call the constructor of

superclass ?-
(1) super (2) this
(3) extent (4) extends
9. Which of these can be overloaded ? I o
(1) Methods (2) Constructors

(3) All of the mentioned (4) None of the mentioned
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10. What is the process by which we can control what parts of a program can access the

members of a class ?
@) ?olymorphism (2) Abstraction
(3) Encapsulation (4) Recursion
11.  Which of these keywords can be used to prevent Method overriding ?
(1) static (2) constant
(3) protected , (4) final

12. Which of these is correct way of calling a constructor having no parameters, of

superclass A by subclass B ?
(1) super(void); (2) superclass.();
3) super.A(); (4) super();
13. Method overriding in Java is possible due to which concept ?
(1) Abstraction (2) Encapsulation
(3) Polymorphism (4) None of the mentioned
14. A class member declared protected becomiés a member of subclass of which type ?
(1) public member (2) private member

(3) protected member (4) static member
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15.

16..

17.

18.

19.

What is not type of inheritance ?
(1) Single inheritance ~ (2) Double inheritance
(3) Hierarchical inheritance (4) Multilevel inheritance

In order to restrict a variable of a class from inheriting to subclass, how variable .
should be declared ? '

(1) Protected (2) Private
(3) Public (4) Static

Which of the following keyword is used for implementing inheritance through an
interface ?

(1) inherited (2) using
(3) extends (4) implements
Which of this method of class String is used to obtain a length of String object ?

(1) get) (2) Sizeof()

'(3) lengthof() 4) length()

Which of these classes is not included in java.lang ?
(1) Byte (2) Integer

(3) Array (4) Class
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?0- Which of these is a super class of wrappers Double & Integer ?

(1) Long _ (2) Digits
(3) Float | | (4) Number

] 21, What is the range of short data type in Java ?
(1) -128to 127
(2) -32768 to 32767
(3) -2147483648 to 2147483647
(4) None of the mentionqd

22. Which of these occupy first 0 to 127 in Unicode character set used for characters

in Java ?
(1) ASCII
) ISO-LATIN;I
(3) None of the mentioned
(4) ASCII and ISO-LATIN -1
23. Which of the below. data type doesn't support overloaded methods for +, —*and/?
(1) int (2) float

.- (3) double (4) BigDecimal

97692/(D) ~PT. O.



24. Literal can be of which of these data types ?
(1) integer (2) float

(3) boolean (4) all of the mentioned
25. Which of these is necessary condition for automatic type conversion in Java ?
(1) The destination type is smaller than source type
(2) The destination type is larger than source type
(3) The destination type can be larger or smaller than source type
(4) None of the mentioned
26.  What is Truncation is-Java ?
(1) Floating-point value assigned to an integer type
(2) Integer value assigned to floating type
(3) Floating-point value assigned to an Floating type
(4) Integer value assigned o floating type
27. Which of these is an incorrect array declaration ?
(1) int arr[] = new int[5] (2) int [] arr = new int[5]

(3) int arr[] arr = new int[5] (4) int arr[] = int [5] new
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28. Which of these is necessary.to specify at time of array initialization ?
(1) Row (2) Column
(3) Both Row and Column (4) None of the mentioned

29. Modulus operator, %, can be applied to which of these ?
(1) Integers
(2) Floating — point numbers
(3) Both Integers and floating — point numbers

(4) None of the mentioned

30. Which of these statements are incorrect ?

(1) Assignment operators are more efficiently implemented by Java run-time system

than their equivalent long forms
(2) Assignment operators run faster than their equivalent long forms
(3) Assignment operators can be used only with numeric and character data type

(4) None of the mentioned

31. An array e-lements are always stored in .............. memory locations.
(1) Sequential
(2) Random
(3) Sequential and Random

(4) Binary search
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32. Which operator is used to invert all the digits in a binary representation of a number ?
(1) ~ (2) <<
(3) >>> @ "
33. Which of these is returned by "greater than", "less than" and "equal to" operators ?
| (1) Integers
(2) Floating — point numbers
(3) Boolean
(4) None of the mentioned
34. Which of these are selection statements in Java ?
(1) if0 (2) for()
(3) continue (4) break

35. Which of these jump statements can §kfp processing the remainder of the code in
- its body for a particular iteration ? - 8 i '

(1) break A (2) return

(3) exit (4) continue

36. Which component is responsible for converting bytecode into machine-specific code ? .
(1) JVM (2) JDK

(3) JIT (4) JRE
197692/(D)



37. Which of the below is invalid identifier with the main method ?
(1) public _ (2) static
(3) private (4) final
38. What is the extension of java code files ?
(1)_ .class (2) .java
(3) txt 4 js
39. What is use of interpreter ?
(1) They convert bytecode to machine language code
(2) They read high level code and executé them
(3) They are intermediated between JIT and JVM
(4) Itis a synonym for JIT
40; What is the stored in the object obj in following lines of java code ?
box obj;
(1) Memory address of allocated memory of object |
(2) NULL
(3) Any arbitrary pointer
(4) Garbage
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41.

42.

43.

44,

Which of the following is a valid declaration of an object of class Box ?
(1) Box obj = new Boxt();

(2) Box obj = new Box;

(3) obj =new Boxt();

(4) new Box obj;

Which-of these statement is incorrect ?

(1) Every class must contain a main() method

(2) Applets do not require a main() method at all

(3) ‘There can be only one main() method in a program

(4) main() method must be made public

What is the return type of a method that does not return any value ?
(1) int , (2) float

(3) void ' (4) double

Which of the following is a method having same name as that of it's class ?
(1) finalize (2) delete

(3), class (4) constructor

97692/(D)



45.

46.

47.

48.

11

Which method can be defined only once in a program ?
(1) main method (2) finalize method
(3) static method (4) private method

Which of this statement is correct ?

(1) All object of a class are allotted memory for the all the variables defined in the
class

(2) If a function is defined private it can be accessed by object of other class by
inheritation

(3) main() method can be made private
(4) All object of a class are allotted memory for the methods defined in the class

Can abstract class have main() function defined inside it ?
(1) Yes, depending on return type of main()

(2) Yes, always

(3) No, main must not be defined inside abstract class

(4) No, because main() is not abstract function
Which function is used to pefform some action when the object is to be destroyed ?
(1) finalize() ) delete()

(3) main() (4) none of the mentioned
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49. What is true about constructor ?
(1) It can contain return type
(2) It can take any number of parameters
(3) It can have any non access mbdiﬁers
(4) Constructor cannot throw an exception |
50. Which of the following has the highest memory requirement ?
(1) Heap (2) Stack

(3) JWM (4) Class
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